Fundamental Integration Formulae
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Note: In any of the fundamental integration formulae, if xis replaced by ax + b, then the same formulae is
applicable but we must divide by coefficient of x or derivative of (ax + b) i.e, a In general, if

J.f(x)dx = ¢(x)+ ¢, then J-f(ax +b)dx = l¢(ax +b)+c
a

jsin(ax +b)dx = _—1005(ax +b)+c, jsec(ax +b)dx = llog| sec(ax + b)+ tan(ax + b)| +c etc
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Some more results:
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Important Tips

= The signum function has an antiderivative on any interval which doesn't contain the
point x =0, and does not possess an anti-derivative on any interval which contains the point.

@ The antiderivative of every odd function is an even function and vice-versa



